Exercise 15

15.1

Study the example and then perform the same operation on the following

sentences.

(a)

(b)
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Example:

TUa v EARERNT 20 (1R
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VavaARERNITEEIRATL,

VarEARtTHEEREBNT- 720 (EAEWE)
<) — SARBAENEFTT, (PEEE
ERBTORYIIE V. KR

FEAOBED SARIY V=TT, (BE)

BT IARKTZHAIICEET T, (E3A)
VavEARTHTUTEAKESVE L, (EFXA)
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LA VA 2REET, (EF3A)
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Exercise 15

15.2

(a)

Etﬁ%%l/i Lf:o
BEEHEVE L,

KEZEEHRITLE L7z,
KIEBE»&EEZHLE L,

VavsALBRfTEsE L7
;H]*i%’ﬁ#%ﬁi l/f:o

VANV TRTRARERST LI
E"‘)l/%ﬁ{&i Lf:o

ED)FRERATEE L
'7"‘7°U %{E‘/‘i Lf:o

ERBEOMBY LT L7
BENLIC DT LI

ESAOFERICEREZLE L,
ESARVWEL .

REELB~TEE LT
ijj(gi L7

Question and response.

Example:
bt FAVEOEERAE TP (79 VAR
WO, 77 VAEDRRIRAET T, FAVEBEOFEFTEATEA,

ERXADTRHRIFLVERS YT Lizds (5T F)
ESARTREHBNMTEE LA (1)

EDIDI—-F A VTR TITIVEAIET LD (BBINEA)
HIERKHEFOME 2 LE L. REOHE)
BEIBARBYIDHSAR S FHRLELXTTh. (KD
Y=oy PTCHELEVWELLD, ({ZbHD)
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(b)

Exercises and Word Lists

BrvBEzRE LD (FLY)
PRIK KA T T H (- )
BE)RADHFERFEVE T (B)
BhxIALLCHELETH. (KRH)

TY—BARTEBEVE L2, (E—% =) (EF)
TY—XARtL—-y—2BwnI L,
EFEAbE—7—%BwI Lid,
whni, BFEAdt—2—-iREwEEATL D

VavEARTAREYITEZ Lh. GRED) (EBA)
EFSAREZOIAOHEL LT Lzh, GREORT)(HHFEA)
ELEAREIAEFIITEE T2, GEK OAR) AT S A)
FEEAREWTWIZRAEAE T (E—V) (R —3A)
EFRAREALRERERLITH. (77 ¥ 2D/ BHTFEA)

153 Change the word in brackets into a suitable form. Note that in some cases
no change will be necessary.

BEb0B@EW) ) E L7,

75 VAP bREN(B) R
CHTAHWI)BEMIILAED) A,
AR (BhW)BOEN-CSADDE LT,
HlLizhb Ly 2hEd,
CHT—=7aiF e TH (FEF) TTHEEH T Ro
CHhIRD(KY) 32— —T7F,
BFL LW REBECITEE LA,

B DFRTVWREACLR) 2D L1,
@Hh)HEEH Y T Th
CDEROTFAIEAA L GER) TTo
TY—BADTN—-rEHED (KEW) TT 4,
AR»LE&RTTRPFEVREET,
CDOHATIELo LD (BWLW),

PEFL o E D (L) bk,



Exercise 15

154 Complete the following table.
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go 17 < ¥ Wo e wWhirvw  wEIT
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